
Physical Science 10                                        Circuit Schematics and Ohm’s Law  MacDonald 

 
Calculate the missing information using your knowledge of series and parallel circuits. 
 
1. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 
 

VT = 12.0 V 

R1 = 8.0 Ω 

R2 = ? Ω 

R3 = ? Ω 

IT = 5.0 A 

I3 = 1.0 A 

I2 = ? A 

I1 = ? A 

VT = 27.0 V 

R1 = 4.0 Ω R2 = 3.0 

Ω 
R3 = ? Ω 

IT = ? A 

V2 = 9.0 V V3 = ? V V1 = ? V 
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3.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
4.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

IT = ? A 

I2,3  = 2.0 A 

I1 = 4.0 A 

R3 = ? Ω 

R1 = ? Ω 

R2 = 5.0 Ω 

VT = 32.0 V 

  V2 = ? V   V3 = ? V 

IT = ? A 

I2 = ? A 

I1 = ? A 

R3 = 8.0 Ω 

R2 =  8.0 Ω 

R1 = ? Ω 

VT = 40.0 V 

  V3 = 24.0 V 

  V2 = ? V 

  V1 = ? V 
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V-I-R Table for Schematic #1 

 

 
V-I-R Table for Schematic #2 

Resistor # V (V) I (A) R (Ω) 

1 
   

2 
   

3    

Totals VT= IT= Req= 

 
V-I-R Table for Schematic #3 

Resistor # V (V) I (A) R (Ω) 

1    

2    

3 
   

Totals VT= IT= Req= 

 
V-I-R Table for Schematic #4 

Resistor # V (V) I (A) R (Ω) 

1    

2    

3    

Totals VT= IT= Req= 

 

Resistor # V (V) I (A) R (Ω) 

1    

2    

3 
   

Totals VT= IT= Req= 


